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1 Calculate the molality of methanol in a bottle of "methyl hydrate" used to help start
automobiles on damp days, if the solution is 90.0% CH3OH by mass. The molar mass of
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2 Calculate the mole fraction of water in 6.00 m glucose(aq). The molar mass of glucose is
342 g/mol and that of water 18.0 g/mol.
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3 Commercial perchloric acid (molar mass, 100.5 g/mol) has a density of 1.67 g/mL. If the
molarity of HCIO4(aq) is 11.7 M, calculate the molality of HCIO4(aq). = _ A7mol
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4  How much of a 2.0 M solution of HCl and how much water is needed to make 300 mL ’4:4 X4
0.3 M HCI solution?
A 45 mL water; 45 mL of 2.0 M HCI
B 45 mL water; 255 mL of 2.0 M HCl Ok ¥) = eirfawes)
55 mL water; 45 mL of 2.0 M HCI = He
by V= 45 mL of HCl

300~ 45 = 266ml of Heo
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